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Total questions : 80 Total marks : 80

1) Choose the correctly spelt word:

1)
Accilarate

2)
Accelerrate

v 3)
Accelerate

4)
Accilerate
0T -

Accelerate : WIfT® 31, Fosifo BT

2) AP TROCHER Tl AT © BT | AROCFAOA CFaPeT Vo0 IsTAGTR T B AT
P9?
1)
qo IO

v 2)
vo fabH

3)
»o faow

4)
yoo fAoR



WA (R 2% x WO =71, tqt ox o7 -~ Cvgwa
= oz? e 2Ts, V2 = Yoo I x = Yo

AT wrefie, 2% Yo FIBE = T = @ xS0 = wo B
L ofFST = 2 x(wo + %) =2 x80ff = vo
o= |

3) PTA AP APFIVR b0% 1TO 932 10% JTRER 1P PR | TG KA P PR W0% |
TS AW o341 FOGH (Pe] FIEA?

v 1)
S0

2)
NG

3)
R

4)
SN

AT : QPTG TGO AT PR (b0 - YO)% = 0%
OPHT IO AT PERCZ. (A0 - YO)% = Y0%

CHID T3 = (YO + X0 + 50)% = 0%

TS RITT @ = (500 - 0)% = 0%

4) What is the antonym of 'Queer'?
1)
Integrated

2)
Abnormal

v 3)
Orderly

4)
Odd

T4 : queer (adjective) W&, [ifba, IATSIRG strange; odd. Opposite: ordinary
conventional normal orderly



5) Choose the correct sentence:

1)
The matter has informed to to the police

2)
The matter was informed to the police

v 3)
The police were informed of the matter

4)
The police was informed of the matter

I : The correct sentence is - the police were informed of the matter.
Inform verb a1 513G active sentence 57 & =T - inform - sb - of/ about sth .

@&d : he informed the police of the matter. 3% 3 I passive IO A the
police @3 sub w3 fate 3|

6) “I'll have a cup of tea,”” my father said, “Because I'm not hungry.”” Which
is the correct indirect speech?

1) My father said that he had a cup of tea because he wasn’t hungry

2) My father said that he would have had a cup of tea because he wasn’t
hungry
v 3) My father said that he would have a cup of tea because he wasn’t
hungry

4) My father said that he will have a cup of tea because he wasn’t hungry

9T : Direct speech A< tense---Present Indefinite tense X Inderect speech 1<
tense--Past Indefinite,Present continuous---Past continuous,Present perfect--
Past perfect,Present perfect continuous---Past perfect continuous, Past
Indefinite--Past Perfect,Past continuous---Past perfect continuous tense XJ|

7) P-9 819 0 I 4x2-px+9 QP oI5/ 1?2

1)
10

v 2)
12

3)



4)
16

Az (4%)% - px + 9

= (2x)?- 2.2Xx.3 + 32 - px + 2.2x.3
= (2Xx-3)?2+ 12x - px
IFMD o 35z I,

12x-px =0

da,p =12

8) 13fD ST 51,573 \3 F. 5.3 JUFCH R \3 VYo | G T VY T AT FG?
1)
dO

2)
NG

v 3)
20

4)
NG

II0T -

SIS X LG = HJAYT 63 D SR
I X VYO =VY X F
ST =30

9) “fAJNO @ICAT T8I 3T KB AT @A ?
1)
R e

v 2)
(P A

3)
AT G-



4)
GUTEAG S
T

o TTERT T, SR TSTHS TG - g 93 TR I8 \IGA G I | Q3 g I AT T 26
9.81 ms”-2. (3F WS g A3 Fd @PT (9.83 ms”2) 23T I8F \3GA\3 @R |

o RN TR -g A7 T PH 23 I 3G P | 2{f AR @ I \3Gd X[ | I8 SRH
ARG 2 1 g SIS TG SR ARG = |

10)>,O,®,50,56,{3.......%1@ D3 AT 9% FG7?

v 1)
LY

2)
d6

3)
8Y

4)
v

T 1 93 YIRTIOR ST G 267, 9% ST SATIPT TSR AP G > @R
S, O A AT X

0,Y 2T ATYPT O

Y,50 2R AYPT 8

ORPE I o 4R Aion,

9,0,,50,5¢,35,3b,0Y,8¢,8¢, 0V |

11) 'PIAR CTP ICH' ICPT PTAR (I PITP?
1)
PLAPTKID

2)
DA PR

3)
M DIRP



v 4)
WIPAT PRSP

I &

o GRIKPA-

o I @19 fFIREF Remy O fFIR @I AR TeBRE 2opPT I T OIP
ORIPIT I | (THA- PTAR CTP PCH/ TG0 2 | STAM WEPH TRNG0 2 | QST
WIIPACT TS ReRFT Tz«

12) RTAD O 2FY STHICSK BHIRAT?

1)
JI-IeTd

v 2)
RERIK

3)
T

4)
HroTorar
IIT -
* DO ORIRPY ST -

* (T BRFY S TRl NOhE (7T, a1, $60, AT @197 (T @ ST 27 BIP QORI
R 2P SIS AT | (THA-

o TY Mg T141 = FLFIA
o X9 IR &1 = TR
o 5 FACT 5101 = F95101 30517 |

o TP AP, DTG, PP 27 57 FAICK SHIAT | T WA (R TR = P 2T
HLPRBI I3 AT |



13) GRESHRT T IS IR PR @72

1)
1T

v 2)
TP TS

3)
APl

4)
SIESIRIERUN

IIT -
o FENTIAR T AR QIS HAT DD I I64T | Afb 2APTR T Y3 H |

« D FIRfGPRT 8 Mioery | b 'Field of the Embroidered Quilt' J1C SIqa™ 341 27|

14) RIS SATTR TP ?

v 1)
ReRoGTT IR

2)
AP I

3)

4)
AR ST

II0T -

o RGOS GG AT BN 267- WPRTEGS, AR AT, TfAsiEo, 32afo
AR ZOI11H |

o P IETTLIR DS KT BT 267 "9l Fa- JW, Tddl | Sdql Ok IO 2T
ST |



15) 4G <[ RANOILS X @10 ?

1)
R

v 2)
IfFa

3)
@)

4)
S

IIT -

o QY X[ WY T G, TR, S-S/ e Y | 7 KA1 =<7 267 e |
o IR WA IIPT | QO IR RFATOTYP *7e7 27 77 |

16) IRoRe A6F @10 ?
v 1)

3)
SR QBTN

4)

II0T -

o facoEeTe A1 (6 A& AT O] HRS2ATRE JITP S 261- JISNRIE, SRFI, @K 10d,
f¥ 2 R, O, oz, e aorerfsicg 3onf |

o Ry Aad 2257 261- SRR AT | TIRPUR 267 I9ad S1pd A0 RTo Siecaior 3
AP A0 |

17) AP @ JISHT0L [RPTR @ 762
1)



AAFI BIATDP

v 2)
ACPB T @D

3)
POT3 I

4)
I T2

IIT -

o AP TP, 9T P TN PTACEAT (AP TGN AP TEGE) - SITERTSA! YA ToART FPE3
AP (/9P PR FA ITAAR O AT e |

18) TQ7 X @IA0?
1)
AN

v 2)
Jeronta

3)
B

4)
IR

T
o TP 2O, FD, 5@ 257 &7 I | TS <19 2 Mo | 97 st 7 Qinsnfa

o 37 Iz A9 257- AR, T, IR, O], IAT FOIET 307 |

19) JISTGI' XN SR I ?
1)
151 + QAR

2)
157 + ARG



3)
TP + T

v 4)
1P + ANHR]

I &

* 5% fAATHE, F, 5,, T, T, 1 A3 A 51, G, T, 7, I 37| WA TRV 97 AR IG5 AU
AT 513 051 TOR AT 2|

s TEA- T + AN = 5T | I + ANGH = J15TGI

20) PTRfET ' ¥RI07 WY T ?

v 1)
WTOR 50 famt

2)
@fae o3

3)
I fmR g

4)
T fam
IIT -

o I (TSR TOF o) (OTIR FO PR I A IR (Tl |

21) 1T SIFR IDD AU 6P (PIAL?
1)
IH

2)
SIBL)

v 3)
G



4)
i
0T -
o 1 GIFR D0 AYF A6 21 "GHG' AT BRIBAT XK PHP MDD |

o O] WA [ofGD AAT 0P 2 I ; M A G PRIPTHS Whod IAT AT FReIRo
I

* TR AT FAOK AT FAF A6 2T X7, 1 FAPS FLGFA 76 I5 el I |

22) AR IS @19 ORI 200 W62

1)
R

2)
PR

I &

o SATSY- ST T ST, THeTd, aPIEGD 9 QP 2ARPL|

o STHE OICZ. Q54 QPTP X QP S TG X PT0 G X7 519 AP S5 I | (TH-
* (MK GWT = (*XIC]
* (P IR IR = QNI 30TR |

* ST TR 72 T OCOMER I ST Apd QRRTLRP <17 e 2 | AR 110 FRFO (WP
JIRETT Q0K | O D 1T AR BT ARPCENS G HFTOI o UTT T



23) TG WA TP @I ?

1T

v 2)
[ @A

3)
1o Tar

4)
KRR
T :

o o PR SO T ACPNE T - AR A, Y, AT 123, TG, FYHT,
SYICHR 1T, \3CSTT ¥ 3o |

* O DO 'ARIPIRA ( SpY8) T BT |

o FIfOR FTE1, AT 2 TR RATG FRINT | &R O AT IRTsF 27 11| 9ff 216 =0
Y939 FH|

24) 51 Rigre g1 fe a1 3y RiGee @1 PR @1d [Rehe?
1)
PO SR

2)
RGRESIR

v 3)
AT A&

4)
WP aft



IIT -

o AT PRP- T TG 5210, AP0, 51210, ST, T, T, [HIgw, R0, TRE 20 613
AT PRF | T- SR0- 3K G T T e a1 74 (AP 73 27 3071 | 57T S Sromra
IRCP A Kefea Turaq|

25) 'TFTOHICSR AT SN TP 2

1)
WA

2)
TR SRS

v 3)
NIFS 3T

4)
ISR

IIT -

* FIOAGR M- XNIFG ST AOIPRIT ST 267 "G Ionicer 2117 | aft 1o 21
YOI FE | @ SR T 5RA 2 SO | 3 BAAIER Tl *NIFS \SFHT TS
FRFR TS PEA|

o TRT SIS ETE D6 RATG ST 367- AT | T ABFRG = Y8t 5 | 9ft Tree
without Roots dlta Tqfo 2 |

26) R K TEAT?
1)
2)
AP TGP T3
v 3)
AT TGRS

4)
EESISIEN])



IIT -

o g Tad [BoNid-

o R PR TGP TG

o oIRIBT T 1T SATER AfoIToT “RPY “miKe TR e Zaars 261 'GPo i 31 |

o AP FEFA TG - IR HAOR AYIAPOR AIEP \3 TGP I TP TYST TG
TS 21 focaTt (o1 d #[d, A Native.

o R ST IR BT 227 '(OIRR AR | Q@ ST (el IAEAY SR | OICP I 2 AT
TS PROR T |

27) 'A Search for Identity' 330 IR @012

v 1)
(TOR TR GIfeTed

2)
(TSR PP 57T

3)
RO 35teTd

4)
PRI 1T
AT :

o (FOR WM Gfetet b 4o 519 27 'A Search for Identity' | 91 FREYCaL (5T
Mo |

* (TR AR 3T IO Jhoga fofae 513 29- I FEW \3 FATOT TR, T7F AR
e W3 oo gE o Zonf|

28) 5P BB (PIAD?

1)
SSIR R/ = I3

v 2)
201 IR 30 = TGt

3)



O A = G

4)
T IRPCT BT = TS

AT &

o WP FIT BB 207 WP (F) TOTT IR 302] T DU AFPT 27- R |
o TANAR SEA 27

o 257 = T AP 5A

* YNT = 30 A

o % = SV @i

o 57 2T (ANG] XA SATYD > |

29) S 24T SRT o2

1)
S SEARGG

2)
N QrARER]

v 3)
SSIER IR LI

4)
510 JigY

T -

o 3% T IFRPACT RITOCGH QPTD BRI AT AR aTe 27 511% | 97 o e,
SRCTTST | SAFL ST -

o FOIRRP SR TTSAITOT IT SHIRCR SR 2T SRT |

o $RfsTO YL TN | (THA- TP \3 TWOND = TIPITONG WO TR W WRITCHK TS OIPT \3
WO - BT |

30) I PRON IO e ICR?

1)
yoft

2)



>ufd

3)
558f0

v 4)
S

II0T -

o F PR TFTCTIT U RATE IROT 7 391 | TAT© RIGarH RS F1/ s (6o
AR PROIMHCO |

* 0O @0 YO5bTD “1refE sz | Ot I FRT S WG |

31) Ildentify the correct sentence:

v 1)
She had faith in and hopes for the future

2)
She had faith and hopes in future

3)
She had faith and hopes for the future

4)
She had faith and hopes in the future.

NN : Sentence - BECS preposition - W IRZR3 e factor | Faith W3R hope - @ 5
noun J3Cd in WK for preposition T2 IR0 e WY IR d11 IKL faith in WY

@I RPgre Regs1 101 | SAME@ hope for Q3 TR AT - @1 R WP 2P T | TR
(@) -3 55|

32) “Who can do it” I=0o7 Passive form X3

1)
By whom it can be done?

2)
By whom can it be do?

v 3)
By whom can it be done?



4)
By whom can it be did?

IIT -

Who {& I passive form g 51O T . By whom + be verb + obj (@ sub + be
+ V3 (ST ; I active O modal verb dT AP SIX sub I7 9/ be 07 1) | ©R 53
passive form X1 : By whom can it be done?

33) Put the following sentence into indirect narration: “You had better not
leave your room unlocked” said my friends.

1)
My friends asked me not to leave my room unlocked

2)
My friends reminded me to lock my room

v 3)
My friends advised me to lock my room.

4)
My friends warned me not to leave my room unlocked

AT : Direct speee-1 I3d had better, ought to, should 25T ART G0 AT BT
indirect speech- A3 s X . Sub + advise/advised + obj + to + V1 + ext.

SO ﬁ?ﬂﬁ)—r{m@@m@mﬂ% indirect <11 : My friends advised me to lock
my room.

34) Noun of the word 'brief' is-
v1)
Brevity

2)
Shortness

3)
Briefly

4)
None of these



IIT -

brief =0 1P adjective IR WY FHFE AR U7 noun T Brevity TR O SEFA 1
S PpesaT | ATl brief U3 adverb @ Briefly @32 short W< noun X& Shortness.

35) “He please us” IMILA Passive form XJ
1)
We were pleased with him

v 2)
We are pleased with him

3)
We are pleased by him

4)
By whom can it be did

II0T -

voice R foTaIqaIEll, 94 obj (@ sub I tense WGIRI FRRPHI verb e 27 W3 BF
I verb 1< past participle form XX pleased U< 91K by d1 I with I QI FICTF
sub & obj o TJ | ©R HSF BB We are pleased with him.

36) “Maiden speech” means

1)
Late speech

v 2)
First speech

3)
Early speech

4)
Last speech

AT &



Maiden speech 4 phrase IR W 9¥d 3691 A1 First speech. @dd : His maiden
speech fell flat on the audience.

37) Which of the following words is wrong in spelling?
1)

Pneumonia

2)
Dyspepsia

3)
Diarrhoea

v 4)
Chalera

T -

QY O 191 & X1 (A1 Chalera, TR < 119 X Cholera. W2IeT Pneumonia
(fFScafaan @151), Dyspepsia (ST A1) W3R Diarrhoea (BWRTSY T (G T3Y) X
S0P AT |

38) The antonym of 'indifference’' is

1)
Anxiety

2)
Concern

3)
Compassion

v 4)
Ardour

II0T -

indifference WY SARITOT, AR TR TP <17 AT Ardour W ARPETol, JIPeTal, THZ |
OFIGT Anxiety U3 Concern Y SasT, 5581 13 Compassion W I, e |



39) “To keep one's head” means

v 1)
to keep calm

2)
to save oneself

3)
to be self-respectful

4)
None of these

IIT -

keep one's head 1o phrase IR WA T TR AP G X3 ATPT, A 4 AT, FI
SIS T, T STS LT to keep calm.

40) What is the adjective of the word 'tax'?

v 1)
Taxable

2)
Taxation

3)
Taxing

4)
Taxably

I &

tax Q0 noun IR A P4, I3 adjective form X Taxable TR T I AN |
SO 9P Bk Taxable.

41) A synonym for 'mischievous' is
v 1)
Vicious

2)



Kind

3)
Serious

4)
Well-behaved

IIT -

Mischievous S Wiaddd, o TR AP <% X Vicious O (IE, WRSE | 2700
Kind S 71, Serious O sT81K, Tr8ike 13k Well-behaved T HIEG |

42) Choose the correct preposition in the blank of the sentence “l count
help”

1)
for

v 2)
upon

3)
with

4)
after

I &

Count on/upon T TR S fSa T | -1 S B ST upon.

43) Choose the right preposition for the blank space in “What is the time
your watch?”

1)
at

v 2)
by



4)
with

IIT -

SR Q@RACO M AR QIRACS by IR BT R | O13 UG TSI 1 IRCo @RI by watch
JRRR 91 W What is the time by your watch PR @0 (oK TRo (TR WG5iI)
PUCT ICS?

44) The synonym of the word 'pitfall'is

1)
Opportunity

2)
Artistic

v 3)
Shortcoming

4)
Enduring

II0T -

pitfall Q7T STFT 1 OO TR FALSF <% A1 shortcoming A TORG | QZTGT
Opportunity SR S3TsY, Artistic W 15 132 Enduring XY 31 |

45) “He asked me when the next letter would come” JIICPK direct speech X=--

1)
He said to me, "When would the next letter come?"

v 2)
He said to me, "When will the next letter come?"

3)
He asked to me, "When will the next letter come?"

4)
He said me, "When the next letter come?"

AT &



Interrogative sentence 13 indirect ¥ 599 said 7 RS asked TTUCo 27 W3R
T wh-question KT &F e inverted comma B &P =GR I reported speech
- shall 31 will WA W3 RS would I | TR @RI AMoZ TG AP 3F direct form
X He said to me, "When will the next letter come?"

46) fab3 @1 I @ ?

v1)
| felt his pulse.

2)
| found his pulse

3)
| examined his pulse

4)
| saw his pulse
0T -
pulse (ARSI ™1#d) FYRTG feel I TFSI BT R, BT GT IR T AT T IR 1| B3 5SS

qiPy X< | felt his pulse.

47) ST TIGroR WRogCSW s (T AR ...

1)
P oS WieT I

2)
7ivaa o e I’

3)
@I oS WIPT IR a1

v 4)
AAPDCE [Tos W1 IR

II0T -

» 130 o wiere T U3t @193 B 3T WIR | TR o wiowreR tf ol
AR AP TToS WiPT I |



* TROER TicP 390 @03 719 \3 S (215 10 I O el frge SiieT I |

48) 13 fb TAROCHAR Tdf 20% IFGIAT T R 2% 20% FHICAT T | CFAP-----mmemoem

v1)
8% I

2)
8% NI

3)
X% AR

4)
RS AR

TN ; WA D,

WRIOCHCAR O Yoo o 3R oF ¢o fAoR

<. CFOP = (Y00x&0) = €000 I5 TR |

WIGRR , T ANGCET R = (500 +30) = 30 TR 1%
21‘3:(@0-50):80%?[2!

.. CFTTA = (d30x80) = 8b-00 I5f fAbK |

STORTR CFAPE A = (€000 - 8b-00) = 00 35 o
94,

@000 3., 9 CFaTH I = 200 .1,

00 3. Q GFaTE FCH = (R00x500)/ ¢ooo I 7.
=8%

49) (x - 5)(a + x) = x2 =25 X a 9K Id 39?
1)
25

2)
-25



IIT -

e (x-5)(a+ x)=x2-25

*dN, (X-5)a + x)=x>—52

*JN, (X-5)a+ Xx)=(X+ 5)(x-5)
*d,a+x=xXx+5T,a=5

50) AT FICT V0 T T TNZ | O T Sbr T PEIT (A, 58 T fFFPT RIS UL ¢ T
PR3 (A d1| ToTd B3 (AET?

1)
0 G

2)
¢ od

3)
>0 Gd

v 4)
AGd
0T -

* (PTA (YEAR (AT A1 AT BT T ¢ Sl | O @RI (T (A 9Fd T T (00-¢) = 3¢
T TOUT, TS (T (UE = (db + 58) - 3¢ = A Td|

51) >¢f (oo 71 @D 511 JeeT 511 | I 5P Fe% vooo Tl T Ol (GUR o7 $97?
1)
3000 BT

v 2)
5¢00 BT

3)
Sb-oo BIpT

4)
Yoo BT



T
o ¢ 05 =>¢ 0 cow
*Y""=)¢/k =9 0ol
* Qd, 2 T 517 71 = 0000 TP
¢ 5 """ _1000/3 = 5¢00 BT

o @9 ST 5F 57EE © B (TwrvR V T (GO 7Tg T d¢oo TR |

52) wo TR Rt ufore 3 #n1fad Tgems ag o | & e #f1fag #1397
1)
NAGITE]

v 2)
St feoR

3)
yo fooR

4)
52 [

I &

o TFITORC (TSP = (4 + 0) = D0
R o1 < E19 = wox V50 = Sy [IBE|

53) 70 71 TR QT G TAFCH S0 \3 5S¢ TT AT #{ I | a7 §b ICa CUTAT AT
(ORHTID POFFCT X2

1)
¢ IO

v 2)
Y IO

3)
qQ IO



4)
b IO/

0T -
o 40 T ART > TOR A
o = (3/50 + 5/5¢) WL
* = (0 +R)/00
* =¢/00
o = /Y TR

o QA D/ TR AL S TOR D T ST F T = dx /> =Y THR|

54) Y Td 2FY, b- Td IR AR S T AP IIGR 5T ¢ I2K | SPICH IAGK 5T 80 I2J
REATPOR IAGK 5T V8 IBJ IS ITH FO?

v 1)
S0 924

2)
Y I

3)
¢ I

4)
58 I
T
* U T 9RPY, b Gd R UL D Td AP 1D A = (¢ x &) = ¢ IZA

o O RPICW (HIT I = (80 x V) = 380 DA

o JY PR G ITH = (08 X br) = 93 IJ

o OIE IEAPI I = {€3¢ - (380 + AR)} = YO I |



55) 9/5Q 9 37 I TR S (@1 LI Q15T PACT GAIRH 0/¢ TI?

T
o R, WD, =F
* ATQ, (A+)/(>a+F) = V/&
o M, OC+CT = CO+0F
¢ I, 3T =DV

°Jd,P =Yt

56) B &) 800 TP BT IR 0% oo R 1 2671 | HAI07 RPTHETy Po?
v 1)
V30 BT

2)
Vo BT

3)
b0 BT

4)
380 BT



T
* T, BFio, NPT 3011 FAFER B[ 25R- P00 27|
* 800 TP TP (P PR 0% THRoCo Py P,
o RFTeT = 80o- (800X0%) =800 - b0 = VO B |

57)a+b=547a-b =3, ab 17 did $v?
v1)

IIT -

+ ab = {(a+b)/2}2 - {(a-b)/2}?
* = (5/2)- (3/2)°
+=25/4-9/4

e =16/4 =4

58) o1 IO I3 (A< IIGK BRBT| Y I2J 9 [PrOR A 2t RAGK P18 2e | forar
\3 9@ TG ITH FO?

1)
@Y Q3R Y8 I

v 2)
Y L » IZI

3)
O IR b I2J

4)
80 W% S0 I



IIT -

o 44, LA IO AN = F I27 [0 TOHTF I = 83 Y I2F 7, 7(a< I = (F - ¥) I8
foroR T3 = (89 - v) I

« ATQ, (8% - b) = Y0(F - v)

* J1,50F-8F =0 - Y

* 3T, VT =8

* 1, P = » I O,

* OO WA = » I2J

o TR0 I = 8x» = VY IFH |

59) <115 PO AT UFD TREP IFTCIE 53 TIC5T GI5T IRT T @A OF WX T TR /0 | (6
e T 3f<e T2

1)
4

v 2)
8

I -
. WW,)@:){%G@:RXQ:@O%
o 43, @D WA = 3T QIR IG WD = 0P
* ATQ, 3T + OF = YO T, €T = Yo T, T = 53

o O (@6 WD = 3Ix53 = 38 3fde

60) @I J0ad AR \3 IR TGoTo..........

1)
0



II0T -

o (I 0o AR \3 AR TAGATOR 11 I | TR, T = /4

61) 70 TP (SG AR TGO > - 2 | AN FI6 Ao FFa-

v 1)
LR 8

2)
SRULASY

3)
8 U3 b

4)
ERUE NG

IIT -

o i3, 9P AT =T

o TR TRAN =3 + 2

« ATQ, ¥/(F +3) =R

¢ =T +R

° J1, P =3 O,

o PRI SR = +3 =8

o TGO, ST 50 AT R 93 8|

62) BEACCR 2 FeTd dizet! fHiresy kel @ fareta?

1)
FAGA @57



2)
1, oRT @7

v 3)
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